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#B3E HHE
R (BERRE| ko~ |k~ [ BECCL gug |kt~ mmn| sps | BDE
a—Fk DHEH | DHEH AR B T &5 DBRB=E| K &&t = A
1 |deiEE 1.9E+0| 9.6E+0 11.5 11.5
2 |EHE 1.0E+3 1,000.0 1.7E+2 170.0 1,170.0
3 |BEFE 1.0E-1 0.1 0.1
4 |EHE 2.7E+0 2.7 5.6E+0 5.6 8.3
5 |#EE 1.4E+0 1.4 1.4
6 IR
7 |fRBE 42E+3| 2.0E+1 42479 8.2E+2 820.0 5,067.9
8 |ZWE 34E+3| 3.2E+ 3,383.9 29E+0| 1.4E+1 16.6 3,400.5
9 |HAE 2.0E-1 0.2 0.2
10 |HBER
REEET! 1.9E+2 9.0E-1 188.7 9.0E+3 9,000.0 9,188.7
12 |TER 26E+3| 1.6E+1 2,646.3 3.3E+3 3,340.9 5,987.2
13 |HREER
14 |[#E)E 42E+3| 4.6E+2 4617.2 3.0E-1| 8.7E+3 8,695.8 13,313.0
15 |#iRE 2.0E+2 200.0 1.0E+2 100.0 300.0
16 |[EWE 9.0E-1 0.9 2.0E-1 0.2 1.1
17 |RINE 3.1E+ 31.0 3.6E+0 3.6 346
18 |f&@HE 4.1E+1 41.2 1.1E+2 110.8 152.0
19 [ILEE
20 |RHE
21 |IKEBR 2.4E+1 24.0 1.1E+0 1.1 25.1
22 |EEEIR 1.0E+4 10,397.0 5.3E+1 53.0 10,450.0
23 |BHE 4.0E+2 395.0 38E+4| 1.4E+5 178,440.1 178,835.1
24 |ZER 6.3E+3 6,311.2 6.9E+3 6,934.8 13,246.0
25 |#HER 3.5E+1 35.1 35.1
26 |REAT 1.5E+1 14.5 40E-1| 5.0E+ 50.4 64.9
27 | KRFF 1.5E+3| 1.0E+0 1,506.8 1.0E-1| 1.6E+3 1,622.5 3,129.3
28 |EER 7.2E+3| 2.0E+2 7,364.1 4.6E+4 457436 53,107.7
29 |ZRER
30 |FOERILE 3.2E+1| 2.0E-1 32.2 35E+2 350.0 382.2
31 |BHRE
32 |BRE
33 |EWLE 5.4E+3|  7.1E+ 5,485.0 8.9E+2 890.0 6,375.0
34 |[LER 3.0E+3| 3.0E+0 3,003.0 3.0E+4 30,000.0 33,003.0
35 |lLAOg 6.7E+3 6,741.0 2.4E+4 24.409.0 31,150.0
36 |fESR 2.8E+1 28.0 28.0
37 |BNR
38 |BER 22E+4| 6.2E+3 27,720.0 7.7E+3 7,700.0 35,420.0
39 |EER
40 |fEREE 6.0E+2| 1.2E+2|  1.2E+1 729.0 1.2E+3 1,176.0 1,905.0
41 [EER
2 |RIBER
43 |RERR 1.0E+2 100.0 100.0
44 | KHR
45 |FIFER 1.2E+3| 1.0E+3 2,235.0 6.0E-1 0.6 2,235.6
46 |EEER
47 |[HiER
£ H 8.0E+4| 83E+3|  1.2E+1 88,493.7 3.8E+4| 2.8E+5 319,634.8 408,128.5
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